Event Number	E-02-18
Event Title	Asphaltic Concrete Pavement Surfacing, Annual Contract

Issue Date	11/16/2017 11:00:00 AM (ET)
Close Date	12/18/2017 02:00:00 PM (ET)

Responding Supplier	City	State	Response Submitted	Lines Responded	Response Total	
Weekley Asphalt Paving, Inc.	Pembroke Pines	FL	12/18/2017 10:46:13 AM (ET)	17	\$766,260.00	
Hardrives, Inc. (Hardrives of			12/15/2017 02:00:54 DN4 (FT)	17		
Delray, Inc.)	Delray Beach	FL	12/15/2017 02:09:54 PM (ET)	17	\$769,560.00	
GENERAL ASPHALT CO INC	MIAMI	FL	12/18/2017 01:28:58 PM (ET)	17	\$828,760.00	
Stanford Construction						
Company (Stanford & Sons			12/18/2017 11:23:53 AM (ET)	17		
Trucking Corporation)	Pompano Beach	FL			\$966,762.80	
M & M Asphalt Maintenance,			12/18/2017 01:05:56 PM (ET)	17		
Inc. dba All County Paving	Delray Beach	FL			\$1,187,505.00	
COMMUNITY ASPHALT CORP	Miami	FL	12/18/2017 01:23:31 PM (ET)	17	\$1,252,027.50	

		Weekley Asphalt Paving, Inc.		Hardrives, Inc.				
				20701 Stirling Rd.		2101 S Congress Ave.		
				Pembrok	e Pines, FL	Delray Bch, FL 33445		
Line	Description	QTY	UOM	Unit	Extended	Unit	Extended	
	Furnish all materials and equipment to lay Florida Department of							
	Transportation Type III asphaltic concrete surface (at one inch, 1" depth)							
1	using not more than 25% by weight of total aggregates of reclaimed asphalt							
	on existing paved and newly-constructed streets as specified herein,							
	including cut-backs where necessary. Work order for 1" Type III asphaltic		Square					
	concrete Surface, under 1500 sq yds.	1500	Yards	\$7.00	\$10,500.00	\$7.10	\$10,650.00	
	Furnish all materials and equipment to layFlorida Department of							
	TransportationType III asphaltic concrete surface (atone inch, 1" depth)							
2	using not core than25% by weight of total aggregates ofreclaimed asphalt							
2	on existing paved andnewly-constructed streets as specifiedherein,							
	including cut-backs wherenecessary. Work order for 1" Type III asphaltic		Square					
	concrete Surface, 1500 sq yds and over.	100000	Yards	\$5.80	\$580,000.00	\$5.30	\$530,000.00	
	Furnish all materials and equipment to layFlorida Department of							
	TransportationType S-1 asphaltic concrete surface (atone inch, 1" depth)							
3	using not more than25% by weight of total aggregates ofreclaimed asphalt							
	on existing paved andnewly-constructed streets as specified herein,		Square					
	including cut-backs where necessary.	200	Yards	\$10.00	\$2,000.00	\$9.80	\$1,960.00	
	Eurnish all materials and equipment to layType III asphaltic concrete							
4	Furnish all materials and equipment to layType III asphaltic concrete							
	levelingcourse (as determined by the engineeringinspector) using not more	750	Tana	¢100.00	675 000 00	611F 00	696 250 00	
	than 25% byweight of total aggregates of reclaimed asphalt.	750	Tons	\$100.00	\$75,000.00	\$115.00	\$86,250.00	
	Furnish all materials, labor and equipment to repair potholes at various							
	locations, including saw cuts, excavation, removal and disposal of existing							
5	asphalt, 12" of base materials (beneath asphalt), and construct 12-inch							
	compacted lime rock, 1-inch of Type III or S-1 asphaltic concrete as		Square					
		600	Feet	\$5.00	\$3,000.00	\$9.80	\$5,880.00	
	Furnish all materials, labor and equipment to repair potholes at various							
6	locations, including saw cuts, excavation, removal and disposal of existing							
0	asphalt, 12" of base materials (beneath asphalt), and construct 12-inch							
	compacted lime rock, 1-inch of Type III or S-1 asphaltic concrete as		Square					
	specified. Work order for pothole repair, 150 square feet and over.	1000	Feet	\$5.00	\$5,000.00	\$11.50	\$11,500.00	

				Weekley Asphalt Paving, Inc.		Hardrives, Inc.		
				20701 Stirling Rd.		2101 S Congress Ave.		
				Pembrok	e Pines, FL	Delray Bc	Delray Bch, FL 33445	
Line	Description	QTY	UOM	Unit	Extended	Unit	Extended	
7	Furnish and apply tack coat.	7000	Gallons	\$4.50	\$31,500.00	\$5.50	\$38,500.00	
8	Furnish and apply prime coat, including sanding.	100	Gallons	\$10.00	\$1,000.00	\$5.50	\$550.00	
	Furnish all materials, labor and equipment to mill and dispose of materials							
9	of existing asphalt pavement to a depth of one inch (1"). Work orders up to		Square					
	1,000 square yards.	1000	Yards	\$5.00	\$5,000.00	\$5.40	\$5,400.00	
	Furnish all materials, labor and equipment to mill and dispose of materials							
10	of existing asphalt pavement to a depth of one inch (1"). Work orders		Square					
	greater than 1,000 square yards.	12000	Yards	\$2.50	\$30,000.00	\$3.75	\$45,000.00	
	Furnish all materials, labor and equipment to mill and dispose of materials							
11	of existing asphalt pavement to a depth of two inches (2"). Work orders up		Square					
	to 100 square yards.	100	Yards	\$10.00	\$1,000.00	\$6.20	\$620.00	
	Furnish all materials, labor and equipment to mill and dispose of materials							
12	of existing asphalt pavement to a depth of two inches (2"). Work orders		Square					
	greater than 100 square yards.	200	Yards	\$10.00	\$2,000.00	\$6.20	\$1,240.00	
	Furnish all materials, labor and equipment to install vehicle detector loop							
1 1 1 1	wire and lead-in cable as per Broward County's specifications, in locations							
15	where loops were removed or damaged due to milling operation, including		Linear					
	saw cutting and sealing.	100	Feet	\$7.50	\$750.00	\$15.00	\$1,500.00	
	Furnish all materials, labor and equipment to adjust the elevation of							
	existing sanitary sewer, storm sewer, and/or air valve manhole covers to							
	match the new resurfaced pavement elevation.	100	Each	\$125.00	\$12,500.00	\$175.00	\$17,500.00	
15	Furnish all materials, labor and equipment to adjust the elevation of valve							
_	box covers to match the new resurfaced pavement elevation.	100	Each	\$45.00	\$4,500.00	\$75.00	\$7,500.00	
	Furnish all materials, labor and equipment to adjust the elevation of							
	existing storm inlets and storm inlet covers to match the new resurfaced							
	pavement elevation.	10	Each	\$250.00	\$2,500.00	\$550.00	\$5,500.00	
17			Lump					
- '	Indemnification	1	Sum	\$10.00	\$10.00	\$10.00	\$10.00	
				Total Price	\$766,260.00	Total Price	\$769,560.00	

				GENERAL ASPHALT CO INC		Stanford Construction Co.		
				4850 N\	N 72 Ave.	1801 NW 12th Terr.		
				Miami,	FL 33166	Pompano Bch, FL 33069		
Line	Description	QTY	UOM	Unit	Extended	Unit	Extended	
	Furnish all materials and equipment to lay Florida Department of							
	Transportation Type III asphaltic concrete surface (at one inch, 1" depth)							
1	using not more than 25% by weight of total aggregates of reclaimed asphalt							
	on existing paved and newly-constructed streets as specified herein,							
	including cut-backs where necessary. Work order for 1" Type III asphaltic		Square					
	concrete Surface, under 1500 sq yds.	1500	Yards	\$8.00	\$12,000.00	\$9.62	\$14,430.00	
	Furnish all materials and equipment to layFlorida Department of							
	TransportationType III asphaltic concrete surface (atone inch, 1" depth)							
2	using not core than25% by weight of total aggregates ofreclaimed asphalt							
2	on existing paved andnewly-constructed streets as specifiedherein,							
	including cut-backs wherenecessary. Work order for 1" Type III asphaltic		Square					
	concrete Surface, 1500 sq yds and over.	100000	Yards	\$5.50	\$550,000.00	\$6.80	\$680,000.00	
	Furnish all materials and equipment to layFlorida Department of							
	TransportationType S-1 asphaltic concrete surface (atone inch, 1" depth)							
3	using not more than 25% by weight of total aggregates of reclaimed asphalt							
	on existing paved andnewly-constructed streets as specified herein,		Square					
	including cut-backs where necessary.	200	Yards	\$12.00	\$2,400.00	\$25.30	\$5,060.00	
	Furnish all materials and equipment to layType III asphaltic concrete							
4	levelingcourse (as determined by the engineeringinspector) using not more							
	than 25% byweight of total aggregates of reclaimed asphalt.	750	Tons	\$110.00	\$82,500.00	\$118.20	\$88,650.00	
		750	10113	Ş110.00	<i>402,300.00</i>	Ş110.20	\$66,656.66	
	Furnish all materials, labor and equipment to repair potholes at various							
	locations, including saw cuts, excavation, removal and disposal of existing							
1 5 1	asphalt, 12" of base materials (beneath asphalt), and construct 12-inch							
	compacted lime rock, 1-inch of Type III or S-1 asphaltic concrete as		Square					
		600	Feet	\$10.00	\$6,000.00	\$13.33	\$7,998.00	
					. ,		. ,	
	Furnish all materials, labor and equipment to repair potholes at various							
	locations, including saw cuts, excavation, removal and disposal of existing							
6	asphalt, 12" of base materials (beneath asphalt), and construct 12-inch							
	compacted lime rock, 1-inch of Type III or S-1 asphaltic concrete as		Square					
	specified. Work order for pothole repair, 150 square feet and over.	1000	Feet	\$10.00	\$10,000.00	\$9.76	\$9 <i>,</i> 760.00	

				GENERAL ASPHALT CO INC		Stanford Construction Co.		
				4850 NW 72 Ave.		1801 NW 12th Terr.		
			1		FL 33166	Pompano Bch, FL 33069		
	Description	QTY	UOM	Unit	Extended	Unit	Extended	
	Furnish and apply tack coat.	7000	Gallons	\$5.00	\$35,000.00	\$7.70	\$53,900.00	
		100	Gallons	\$5.00	\$500.00	\$15.38	\$1,538.00	
	Furnish all materials, labor and equipment to mill and dispose of materials							
9	of existing asphalt pavement to a depth of one inch (1"). Work orders up to		Square					
		1000	Yards	\$5.00	\$5,000.00	\$8.82	\$8,820.00	
	Furnish all materials, labor and equipment to mill and dispose of materials							
10	of existing asphalt pavement to a depth of one inch (1"). Work orders		Square					
	greater than 1,000 square yards.	12000	Yards	\$2.50	\$30,000.00	\$2.00	\$24,000.00	
	Furnish all materials, labor and equipment to mill and dispose of materials							
11	of existing asphalt pavement to a depth of two inches (2"). Work orders up		Square					
		100	Yards	\$15.00	\$1,500.00	\$34.38	\$3 <i>,</i> 438.00	
	Furnish all materials, labor and equipment to mill and dispose of materials							
12	of existing asphalt pavement to a depth of two inches (2"). Work orders		Square					
	greater than 100 square yards.	200	Yards	\$10.00	\$2,000.00	\$42.14	\$8,428.00	
	Furnish all materials, labor and equipment to install vehicle detector loop							
13	wire and lead-in cable as per Broward County's specifications, in locations							
15	where loops were removed or damaged due to milling operation, including		Linear					
	saw cutting and sealing.	100	Feet	\$33.00	\$3,300.00	\$21.93	\$2,193.00	
	Furnish all materials, labor and equipment to adjust the elevation of							
14	existing sanitary sewer, storm sewer, and/or air valve manhole covers to							
		100	Each	\$467.50	\$46,750.00	\$492.66	\$49,266.00	
15	Furnish all materials, labor and equipment to adjust the elevation of valve							
15	box covers to match the new resurfaced pavement elevation.	100	Each	\$330.00	\$33,000.00	\$46.41	\$4,641.00	
	Furnish all materials, labor and equipment to adjust the elevation of							
16	existing storm inlets and storm inlet covers to match the new resurfaced							
	pavement elevation.	10	Each	\$880.00	\$8,800.00	\$463.08	\$4,630.80	
17			Lump					
	Indemnification	1	Sum	\$10.00	\$10.00	\$10.00	\$10.00	
				Total Price	\$828,760.00	Total Price	\$966,762.80	

				All County Paving		COMMUNITY ASPHALT CORP	
				1180 SV	V 10th St	9675 117 Ave.	
				Delray Bc	h, FL 33444	Miami,	FL 33178
Line	Description	QTY	UOM	Unit	Extended	Unit	Extended
	Furnish all materials and equipment to lay Florida Department of						
	Transportation Type III asphaltic concrete surface (at one inch, 1" depth)						
1	using not more than 25% by weight of total aggregates of reclaimed asphalt						
	on existing paved and newly-constructed streets as specified herein,		_				
	including cut-backs where necessary. Work order for 1" Type III asphaltic		Square	4.5.5.5		400.00	
		1500	Yards	\$15.00	\$22,500.00	\$28.50	\$42,750.00
	Furnish all materials and equipment to layFlorida Department of						
	TransportationType III asphaltic concrete surface (atone inch, 1" depth)						
2	using not core than 25% by weight of total aggregates of reclaimed asphalt						
	on existing paved and newly-constructed streets as specified herein,		c				
	including cut-backs wherenecessary. Work order for 1" Type III asphaltic	100000	Square	47.0F	4705 000 00	60 F0	
		100000	Yards	\$7.85	\$785,000.00	\$8.50	\$850,000.00
	Furnish all materials and equipment to layFlorida Department of						
2	TransportationType S-1 asphaltic concrete surface (atone inch, 1" depth)						
3	using not more than25% by weight of total aggregates ofreclaimed asphalt on existing paved andnewly-constructed streets as specified herein,		Squara				
	including cut-backs where necessary.	200	Square Yards	\$50.00	\$10,000.00	\$22.50	\$4,500.00
	including cut-backs where necessary.	200	raius	\$30.00	\$10,000.00	\$22.30	\$4,300.00
	Furnish all materials and equipment to layType III asphaltic concrete						
4	levelingcourse (as determined by the engineeringinspector) using not more						
	than 25% byweight of total aggregates of reclaimed asphalt.	750	Tons	\$115.00	\$86,250.00	\$137.65	\$103,237.50
				7	+	,	+
	Furnish all materials, labor and equipment to repair potholes at various						
_	locations, including saw cuts, excavation, removal and disposal of existing						
5	asphalt, 12" of base materials (beneath asphalt), and construct 12-inch						
	compacted lime rock, 1-inch of Type III or S-1 asphaltic concrete as		Square				
	specified. Work order for pothole repair, under 150 sq ft.	600	Feet	\$20.00	\$12,000.00	\$16.00	\$9,600.00
	Furnish all materials, labor and equipment to repair potholes at various						
6	locations, including saw cuts, excavation, removal and disposal of existing						
Ĭ	asphalt, 12" of base materials (beneath asphalt), and construct 12-inch						
	compacted lime rock, 1-inch of Type III or S-1 asphaltic concrete as		Square				
	specified. Work order for pothole repair, 150 square feet and over.	1000	Feet	\$12.50	\$12,500.00	\$10.00	\$10,000.00

				All County Paving		COMMUNITY ASPHALT CORP		
				1180 SW 10th St		9675 117 Ave.		
				Delray Bc	h, FL 33444	Miami, FL 33178		
Line	Description	QTY	UOM	Unit	Extended	Unit	Extended	
7	Furnish and apply tack coat.	7000	Gallons	\$4.75	\$33,250.00	\$5.00	\$35,000.00	
8	Furnish and apply prime coat, including sanding.	100	Gallons	\$4.95	\$495.00	\$6.15	\$615.00	
	Furnish all materials, labor and equipment to mill and dispose of materials							
9	of existing asphalt pavement to a depth of one inch (1"). Work orders up to		Square					
	1,000 square yards.	1000	Yards	\$15.00	\$15,000.00	\$8.00	\$8,000.00	
	Furnish all materials, labor and equipment to mill and dispose of materials							
10	of existing asphalt pavement to a depth of one inch (1"). Work orders		Square					
	greater than 1,000 square yards.	12000	Yards	\$6.00	\$72,000.00	\$3.75	\$45,000.00	
	Furnish all materials, labor and equipment to mill and dispose of materials							
11	of existing asphalt pavement to a depth of two inches (2"). Work orders up		Square					
	to 100 square yards.	100	Yards	\$85.00	\$8,500.00	\$78.75	\$7,875.00	
	Furnish all materials, labor and equipment to mill and dispose of materials							
12	of existing asphalt pavement to a depth of two inches (2"). Work orders		Square					
	greater than 100 square yards.	200	Yards	\$50.00	\$10,000.00	\$78.75	\$15,750.00	
	Furnish all materials, labor and equipment to install vehicle detector loop							
13	wire and lead-in cable as per Broward County's specifications, in locations							
13	where loops were removed or damaged due to milling operation, including		Linear					
	saw cutting and sealing.	100	Feet	\$75.00	\$7,500.00	\$18.50	\$1,850.00	
	Furnish all materials, labor and equipment to adjust the elevation of							
14	existing sanitary sewer, storm sewer, and/or air valve manhole covers to							
	match the new resurfaced pavement elevation.	100	Each	\$450.00	\$45,000.00	\$368.25	\$36,825.00	
15	Furnish all materials, labor and equipment to adjust the elevation of valve							
13	box covers to match the new resurfaced pavement elevation.	100	Each	\$500.00	\$50,000.00	\$736.50	\$73,650.00	
	Furnish all materials, labor and equipment to adjust the elevation of							
16	existing storm inlets and storm inlet covers to match the new resurfaced							
	pavement elevation.	10	Each	\$1,750.00	\$17,500.00	\$736.50	\$7,365.00	
17			Lump					
/	Indemnification	1	Sum	\$10.00	\$10.00		\$10.00	
				Total Price	\$1,187,505.00	Total Price	\$1,252,027.50	

Line	Attribute Name	Weekley Asphalt Paving, Inc.	Hardrives, Inc. (Hardrives of Delray, Inc.)	GENERAL ASPHALT CO INC	e e		COMMUNITY ASPHALT CORP
1	Conflict of Interest	No	No	No	No	No	No
2	Drug-Free Workplace	Yes	Yes	Yes	Yes	Yes	Yes
3	Local Business Participation Percentage	16%	0%	0%	100%	0%	
4	Small Business Enterprise Participation Percentage	16%	0%	0%	0%	0%	
5	Terms & Conditions	Agree	Agree	Agree	Agree	Agree	Agree